Yamaha YZF R1 '17/18 ARROW

SPECIAL PARTS

71 179CKZ Full System Competition Full Titanium
71 178CKZ Full System Competition Inox Collectors

3608011 - 4.8@x12mm Rivet
5260474 - Sleeve

5495034 - Riveted Strap 5035397 - Front assembly

5165727 - Bush
5510208 - Flange

5214707 - Collector 1 (Titanium)
5211460 - Collector 1 (Inox)

5009815 - Rear assembly

5214708 - Collector 2 (Titanium)
5211461 - Collector 2 (Inox)

5214709 - Collector 3 (Titanium)
5211462 - Collector 3 (Inox)

5214710 - Collector 4 (Titanium)
5211463 - Collector 4 (Inox)

3048004 - Self Locking Nut
5180076 - Bush (Spacer)
5846302 - Bracket 3416020 - Spring

3640002 - Washer
3896020 - M8x45 TCEI Screw
3896004 - M8x25 TCEI Screw : o
5748255 - 4:2 Pipe (Titanium)
3640004 - Washer 5750525 - 4:2 Pipe (Inox)

5490007 - Clamp 5175005 - M12
5833095 - Bracket Lambda sensor plug

3884078 - Sticker

5891214 - Muffler

5175001 - M18
Lambda sensor plug

5930192 - dB Killer

3896204 - M5x10 Screw

3608021 - 3.2@x9.2mm Rivet
5704112 - Carby Cap
3416001 - Spring

5740368 - 2:1 Pipe

5748256 - 4:2 Pipe (Titanium)
5750526 - 4:2 Pipe (Inox)

DC0020 3896015 - M8x20 TCEI Screw




